T=RAO—rBRIFHIRIR

H iz ¥ BR 4R ®T FAEHK
9(H) |RETC 6:30 8:30 1
9(H) |REETC 8:30 10:30 1
10(H) |RX&TC 6:30 8:30 1
15(X) |KETC 6:30 8:30 1
16(H) |K&TC 6:30 8:30 1
16(H) |REETC 8:30 10:30 1
22(x) |RETC 6:30 8:30 1
22(L) |HRER 13:00 16:00 2
23(H) |RETC 6:30 8:30 1
23(B) |RIRTC 8:30 10:30 1
29(x) |RETC 6:30 8:30 1
30(H) |RETC 6:30 8:30 1




T=RAO—rBRIFHIRIR

H iz ¥ BR 4R ®T FAEHK
5(x) |KRETC 6:30 8:30 1
6(H) |KRETC 6:30 8:30 1
12(£) |KE&TC 6:30 8:30 1
13(8) |&E&TC 6:30 8:30 1
13(H) |RETC 8:30 10:30 1
19(X) |&KETC 6:30 8:30 1
20(H) |RETC 6:30 8:30 1
20(8) |mRiRTC 8:30 10:30 1
23(0K) | RETC 6:30 8:30 1
23(0K) | RETC 6:30 8:30 1
21(H) |RETC 6:30 8:30 1
21(B) |RIRTC 8:30 10:30 1
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H iz ¥ BR 4R ®T FAEHK
5(x) |KRETC 6:30 8:30 1
6(H) |KRETC 6:30 8:30 1
6(H) |REETC 8:30 10:30 1
12(£) |KE&TC 6:30 8:30 1
13(8) |KE&TC 6:30 8:30 1
13(H) |RETC 8:30 10:30 1
19(X) |&KETC 6:30 8:30 1
20(H) |RETC 6:30 8:30 1
20(8) |mRiRTC 8:30 10:30 1
23(0K) | RETC 6:30 8:30 1
26() |RETC 6:30 8:30 1
21(H) |RETC 6:30 8:30 1
21(B) |RiRTC 8:30 10:30 1




